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A) Draw the general structure of feedback amplifier and Derive the expression of feedback gain
Ar.

B) What is the feedback factor, loop gain, amount of feedback?
C) For the amplifier with gain show in Fig.1, A1=1000, A2=100, A3=0. Show how feedback
can improve the linearity of that amplifier when |§|=0.01, |3|=0.1, |5=100.
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8.24 A series—series feedback circuit representable by
Fig. 8.4(¢) and using an ideal transconductance amplifier
operates with V, = 100 mV, V, =95 mV, and I, = 10 m4.
What are the corresponding values of A and §8? Include the

correct units for each. :
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Question 3: WA Eroccse B (10 pts.)

An OP-Amp having infinite input resistance, zero
output resistance and a voltage gain of 2 x 10 is
connected with a feedback arrangement as shown in
the figure. The closed loop voltage gain is 20. Find:

(i) an expression for the feedback factor, /.

(i) the value of R/R; correct to two decimal places.
(iii) the value of feedback factor /3.

(iv) the values of V,, Vyand V, if V§= 500 mV.
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Question 4: ] ] (10 pts.)

Draw the block diagram of a series — series feedback amplifier. Derive an expression for the closed loop

output resistance of this amplifier. .

A series — series fgeedback amplifier uses tarnscoductance amplifier having Gn = 80 mA/V, input

ressistance of 8 KQ), output resistance of 80 KO and bandwidth of 50 KHz. The magnitude of the

feedback factor | A]is 0.1

(a) Write the units of 4.

(b) Caleulate closed logy values of gain, input resistance, output resistance and bandwidth, Write the
units of each. =

(Write all the formulas used and show your work clearly).
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Name (Arabic): Student #

EE 401: HW#2

A) Draw the feedback configuration used to improve signal-to-noise ratio.
B) Deduce the SNR improvement factor gained from the configuration.
C) For an amplifier with A=0.9V/V and noise of £1V, it is required to reduce the noise signal into
+10mV:
1. What is the gain A, needed for the additional amplifier?
2. Find the value of # if we wanted closed-loop gain of 10V/V.
3. If|B|= 0.1, what is the closed-loop gain? Will this affect the improvement of SNR?
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Attached papers will not be marked. Please answer only on this piece of paper. If there is no
space here please feel free to use the backside.




